CT'“O\\/ v’ )
ladioval  pull
}\\fa

C -
3 L G_ MEM
r+ i
\A‘I7
| ¥
U”fae/t Ak
M
E -
- T k["‘“MZ: /< MMM
¢~ *
1&
UM/‘J V.
'/ MZOM éi#o,
S r

W \
1 -
SFJ.J? ~J£ M
_ e M (F
V'L<.r dr =



Wé T C(ﬁrf § G_/l%ﬁ_/_v :‘<M\c "/(L)

Uir) = — GH= | Poleskal cneryy

€

(ov er/azi.’ou
(X 2
.._&Mwy} wa V., - G My lM\r[

Re Z l:é 2
‘\)00
\fo vl
) wa — G M A + VA ‘)‘;




—

Vo = \/ Q%QE :\/’iolﬂ%to{.?ﬂ/ﬂém

= l2:642/0" = 2 ogp* %

= )L KlM/S E)mp-e, ‘/CLOC}b






il =
feec = aiLal <r'€r1 F—EC>

Mg
— WA
ﬁ;c(4‘l'v‘%'g = EF’EM
W A
fe = M T
ME <<,1

R

MM W
— I [
M< am (4 /'le>

Y. 35 0/0" n En SEMEPaREEY
= d__ 387/ 1
5095 o/DZ9ZJ ( )

'4 L
. }_35({,/06 ~ % fﬂ/ﬂ il ‘”rgQ
6 = Re = 4. v+ (0w



Mass of a heavy (compared to a satelete) star or planet.
Connection to between period of the orbit (T), distance from the
central object (r), and mass of the heavy object (M)
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